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10 Write short answers to any FIVE parts. _a".-:fu:i"' [.;l?.’f&&_.:.@f 2
DG i St (D)

Write formula of least count and calculate least count of Vernier calipers.

S
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P What is accuracy of measurement of a meter rule? ?q_g.-iﬁu; N ke X (i)
Express 1m’ into liter. A 1w Gid
On which principle rocket moves? te b S 7 L A (iv)
Describe Newlon's first Law of Motion. LI gy ()
Why sliding friction is much greater than relling friction? ‘-'q..J:fu).&JLJ;-gc:. .}f ,EJ:;Q;‘ (/._fJf we (vi)
How the value of “g” varies with altitude? ?;ant_‘;c)ujp’trﬁ;iﬂ&&(“g” {vii)
Define field force. ' Lo P W i)

3 10 ‘Write short answers to any FIVE parts. ﬁa!llﬁ&.iklét;ﬂf <3

Y i s Lol ;"_._’u Lo L-;‘r‘/r' - ?ifmfuu.(; NG

y Where lies the axf Sgrilfurppon OR inromworymotion  Resultpk ..
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. Define gravitational acceleration. Write its value for a free falling body.

e b S p AN LK e 318m RN E G
Radius of a circular track is 318m. Find the distance covered in haif round of this circular track.

What is plasma? Where does it exist in nalure? ':'+t§LguL}',4,#J,-JT+;f/Lf¢L.‘fu; Gv)
Define tensile sirain, Why it has no unit? ?t'xu:'} APELT ux"-'q__:l eyl __.?J’L/' )

vu,[-ﬁ-_r,f.;dk;i,_wjd,u.jgﬂl_{uggﬁr_ry__ﬁu:ﬁ&y?‘{ﬁ (vi)
Why does a piece of stone sink in waler but a ship with huge weight floats?
e dnis Sl fE L e n U S SIS E S F (i)
How docs the rate of flow of heat vary with Lhe length of solid?
Ul B e ne i BT BT s} B2 Lo mp S Ll ##(vii)
Deserts soon get hot during the day and soon get cold after sunsep. Why?
" oz Lanbiedd 4

1 ‘Write short answers to any FIVE parts. -
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" What arrangements are made to keep a vehicle in stable equilbrium?
A Define like parallel forces. Give an example of such forces:ss oIS e &£ b ASrdJisu G

S Fd LSl e B SIS Ty Bl L F A Gil)
A force F has pgllaend iculq{ components F. and F,. Write the equations s }ﬁnd its agnitu?c and direction.
Define wark. Offwiiitfagtots dGesit depend? vfx@&zﬁi&mgiwo-ﬁs (iv)
. -g,{r,lﬂg‘-} Gt AL il )2 120t e G P £ 280 72 L L (V)
A cyelist does 12 Joules of useful work while pedaling his bike from every 80 Joules of food energy
which he takes. Find his % efTiciency.

What are solar panels? Write their uses. s e WS s gl K Ay (Vi)
-éb'kdfpcu:":'!;‘w;f:ﬂ.{,hibi«':j.ﬁ‘s {vii)

Differentiate between lower and upper fixed puints of a temperature scale. .

What is meant by internal energy of'a body? 'I'.'Lﬂ_/krﬂ-&/l’(jﬁ'.;()‘ﬂ\'i;i]
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Part - 11, Attempt any TWO questions. Each question carries 09 marks.
State and prove Newton’s Second Law of Motion. -._;;-’-J ..-/.L*.ulg,i_'uyf_-/ T el (L) 5
et 46036000 km = 0 Sets (L)
Calculate the value of “g” at a height of 36000 km above the surface of the Earth.
_.é:rjél.:-bb‘df}: Ju?.-’;.uur_ii/r}?-%{ (W) -6
Derive the second equalion of motion with the help of speed-time graph. '
) ,:‘J”’:_,’Lti'lﬂu?:ﬂj:é.f(&(jjk, gmxSmx4m .o | 3kgm™ Gl ()
The density of air in 1.3kgm>. Find the mass of air in a room measuring 8mx3mx*4m.

-

Dxplain the volumetric thermal expansion. ..;',E_wunf Sg a7 R () 7
45f:'(3l”hf)'3ﬂf,-£_.ﬁf%;. Ut -*,&;/Lyi:f{,ﬁf?%ié 10cm c-iyss ur{;;;z:' 100 () 5

A force of 100N is applied perpendicularly on a spanner al a distance of 10cm from a nut.
Find the torque produced by the force.
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